Algorithm 1: Preemption-Aware Scheduling Policy (PAP).

Input: /Ij,Qj,wJ‘,A]’,Tj,/_Lj, for all 1 S] < N.
Output: (4;) load distribution of grid requests to different clusters, for all
1<j<N.

1 for j < 1to N do
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Sort (1);
k< 1;
while £k < N do

if 35 65 (0) > <z§:1 “;_jﬂ) ~ A then
‘ break;

else
L k< k+1,

Ib + VYr;

ub = 2 x [b;

while %, ¢;(ub) > <Z§:1 <1;:j>> — Ado
L ub = 2 * ub;

while ub — b > ¢ do

z < (Ib+ ub)/2;

it 4050002 (£, 52 ) — 4 then

‘ b+ z;
else
L ub + z;

for j + 1 to k do
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for j < k+1to N do
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